	(ex)	N.E.		EMAIL	OLAN THESE IN THE CONTRACT OF STREET	304	
100000	BEATO REMARKLUTA		ALS PA	YMENTSI	HEET BRAND REMARKS		
Date	04/05/2020 venue_			Payment to	Cust sade.	TOTAL TOTAL	542
CODE	NAME	RATE(MK)	NO. OF DAYS	TOTAL	ORGANISATION	CONTACT	SIGNATURE
1.	ELLEN LYARDEI	1,500	Cq-	6,oen	PWA	D88833-570	I WOME
2-	AGDES UYAKUSI	1,500	4	6,000	*	0681 AP 6 1403	Avokusi
3	MOREEN ZAITI	1,500	4	6,000	+	-	Imouni 1
	ADDIE CHIA	1,500	4	6,000		-	64 As China
	JOYCE TIVARA	1,500	4	6,000	*		13 pringer
	LIMBINOWI COMME!	1,500	4	6,000	4		436 Philliage
		1,500	4	6,000		0449 063	+34 A Chiesa
7.	ADDRESS CHIENA	1,500	4	6,00	D u	106.800	Sacraffer Black
6- 1	GEADBINAH NIHOMA	1,500	0000	La	10 10		(A) year
9. 1	Acima CHillona	-	1	6,0	MAN TO STATE OF THE PARTY OF TH		- Billionago
10 6	BEIGHED DITHAWATONDA	1,500					- C196ma
100	CONTANCE MEANINE	1,508	The second second		100		
31-15	Cha IN MCC		TOTA			Wantstown	TREASURER
	-0		Name C	CHIMNE	MUE CHISH	Postition	LOCAL LEADER
14.14.4	, Thisa		Name	Joyce ?	CIYADA	Position	
Whiten o	gures certified by	10-	Seattle -				
ts and fo	fines certinal						
				WC	1217		
				000	INECT	-	



CANCELLY MAN THE REPORT OF THE PARTY AND THE

MEALS PAYMENT SHEET

Purpose Seaso Centilles TATION

CODE	NASIE	RATE(MK)	NO OF T						
12	A		DAYS	TOTAL (MK)	ORGANISATHIS	CONTACT	MINISTER T		
	ATORMA TAMBACA	1,50	4	6.000	Witness Cont.	TEMBER .			
	EFRIDA MONDOMA	1,500	4	6,000	4	44443111345			
	DACITSO SHAWA	1,500	4	4,000			C. Mondoon		
15-	GOODINGE SAKA	1,506		6,000	М.	- 12	Discount		
6.	GETRUSE PHAI	(,See		6,00	-	C44113-11	Set other la		
	AARON BULEYA	1,500		-		40 234 17.5 14.3	Gr Phot		
	CHRISTINA CHAPCE	1,500	4	6,000		0243317981			
		1,500	4	6,000	W.	0949310119	Chareba		
9.	HILBA CEMANOT	1,500	4	6,000	-	DESIGNATION ST	in some the		
0-	ENERST KAGWABA	1,500	4	6,000	*	_	Elsonad		
	CHIMWEMUOE CHISA	1,500	4	6,000	-	056631300	g Ghish		
2. 4	HOGELLA MTENTE	1,506	4	6,000	-	06887607	12 America		
-			TOTAL	66,000			-		

Compiled by Name Cff 1940 CHSH Position TREASORGE
Facts and figures certified by Carte Source Tryasa Position Cocal Ceases



WORLD





STOPHANOWA VILLAGE | BOX TIR | SKIRLE SKEPPA COSTACTS, 9899-733-9627-9993-248-364 EMAIL: phungs assorbin alignari.com

MEAL PAYMENT SHEET

Purpose BRAID REHARICITATION Date (0/06/2020

Payment in LODG ESCAC

CODE		RATE(MK)	NO. OF DAYS	TOTAL	ORGANISATION	CONTACT	SIGNATURE
	SURPRISON CHAPTER	(500	71	6,501	Piva	व्यव ६५३११छ	Chappile -
3-	MUSICIA PERU ROBERT	1,500	4	6,000	*	DEC 13 61 340	HI- BURERT
Z.	Mitcen Limento	1,500	9	6,000			MM92 Logida
4	MARY MULTON	1,500	4	Coppe	_		IN mulata
	Coyce Moserca	1,5m	4	6,000	NA.	The second secon	L MY WAN
	TABIYEDI HACIDI	1,500	4	6,000	+		2 T. HALLAS
	CHI FLOTED ISTHANDS THINK	1,500	4	6,000	tu.		62 C NHHoden
	Rose CHARLEMAN	V, Cop	4	6,000	-	व्यव्यक्ष	559 Soundaye
	LUCIA WASI	1,500	4	6,000	_	-	L war
	ECIZA KALINA	1,500	9	6,000	-	088438	3937 E- Women
	ELCON KAYINGA	1,500	4	6,000		993740	120 AMA 19
AL.		-		66,000			

Compiled by

Name Joyce ZIYADA

CHIMIDEMIDE CHICK

TREASURE Position.

Position Cocae CEADER

Facts and figures certified by





MEAL PAYMENT SHEET

Perpose BRACO COMOLITATION 10/06/2020 venue Elex- George Street NAME CODE RATEMAN SOLOR OBGANISATION TOTAL DAYS 35HO GLANGE THINDE 1,500 4 Pusor 6,000 13. G. CHIMIDEDO 500 4 Extro. 14 Acice CHIMWAYI 1, Sec. fytoo 13. (BRISA MINGERS DELEG UPAGE 1,500 6,000 MAGINETING NEW BED MODSEZI 1,502 1.6 4 6,000 DGREDGRESS 17. CHRICPID MATER 1,500 6,000 040946238 H 18 NAMAZARI MEDIKHILO 1,500 Gar OUSCOURSE ACCOUNT Agnesi Vakusi 1,500 6,000 COSTABLES CONTRACTOR 1,50% 4,000 12/12a Hamisola CHE EST TOOL SOUTH 6,000 21 CHIMDE MUR CHARM 1,500 6,000 1,300 22 MWAJUMA MARPI 6,000 "(Censole

TOTAL Name CHIMIDELLIDE CHTSY Position. Position LOCAL CEADES Name Toyce ZIYADA Compiled by

Facts and figures certified by

CONNEC







CONTRACTO BOX TA SCHOOL SET CONTRACTOR

LMAIL plumper was contracted from

MEAL PAYMENT SHEET

ODE	NAME	RATE(MK)	NO. OF	(MK)	ORGANISATION	CONTACT NUMBER	AHLDA DURE
	Temmini Manine	1500	5	7500	PWA	OF THE CITAL	Here
				-			
				/			
			1				-
-			/-				
+		/					
1							1
1							1
_		_		7500			
ıL	Phisa	N	016		E CHISA	Position TELE	trus



CONNECT

